



## Mean nonexpansive mappings and Suzuki-generalized nonexpansive mappings\*

Kittikorn Nakprasit

**ABSTRACT:** We give an example of a mapping that is mean nonexpansive but not Suzuki-generalized nonexpansive, and vice versa. But in case of increasing mappings, we show that mean nonexpansiveness implies Suzuki-generalized nonexpansiveness.

**KEYWORDS:** Mean nonexpansive mapping; Suzuki-generalized nonexpansive mapping.

### 1. Introduction

Let  $C$  be a subset of a Banach space  $X$ . For nonnegative real numbers  $a$  and  $b$  such that  $a + b \leq 1$ , a mapping  $T : C \rightarrow C$  is said to be  $(a, b)$ -mean nonexpansive if

$$\|Tx - Ty\| \leq a\|x - y\| + b\|x - Ty\| \quad \text{for all } x, y \in C.$$

We also say that  $T$  is *mean nonexpansive* if  $T$  is  $(a, b)$ -mean nonexpansive for some nonnegative real numbers  $a$  and  $b$  such that  $a + b \leq 1$ . This type of mappings is introduced in [4] and extensively studied in [2] and [3].

In [1], T. Suzuki introduced a weaker condition of nonexpansiveness which is now known as Suzuki-generalized nonexpansive. We say that  $T$  is Suzuki-generalized nonexpansive if  $\frac{1}{2}\|x - Tx\| \leq \|x - y\|$ , then  $\|Tx - Ty\| \leq \|x - y\|$  for all  $x, y \in C$ .

Incidentally, examples of mean nonexpansive mappings and Suzuki-generalized nonexpansive mappings in the known literature are essentially the same. So the question naturally arises whether there exists a subset relation between the class of mean nonexpansive mappings and the class of Suzuki-generalized nonexpansive mappings.

We find the answer negative by an example of a mapping that is mean nonexpansive but not Suzuki-generalized nonexpansive, and vice versa. However we prove that in case of increasing mappings, mean nonexpansiveness implies Suzuki-generalized nonexpansiveness.

---

Corresponding author: Kittikorn Nakprasit (kitnak@hotmail.com).

Manuscript received May 19, 2010. Accepted July 5, 2010.

\*Supported by the Centre of Excellence in Mathematics, the Commission on Higher Education of Thailand.

## 2. A mean nonexpansive mapping that is not Suzuki-generalized nonexpansive

**Lemma 2.1.** Suppose that  $T : [0, 5] \rightarrow [0, 2]$  is a mapping defined by

$$Tx = \begin{cases} 2 & \text{if } x \in [0, 4], \\ 1 & \text{if } x \in (4, 5), \\ 0 & \text{if } x = 5. \end{cases}$$

Then  $T$  is mean nonexpansive but not Suzuki-generalized nonexpansive.

*Proof.* Let  $x = 4$  and  $y = 5$ . We have

$$\frac{1}{2}\|x - Tx\| = 1 = \|x - y\|.$$

But  $\|Tx - Ty\| = 2 > \|x - y\|$ . Thus  $T$  is not Suzuki-generalized nonexpansive.

Next we show that for each  $0 \leq x, y \leq 5$ ,

$$\|Tx - Ty\| \leq \frac{1}{2}\|x - y\| + \frac{1}{2}\|x - Ty\|.$$

**Case 1:**  $x \in [0, 5], y \in (4, 5)$ . Then

$$\begin{aligned} \|Tx - Ty\| &< \frac{3}{2} \\ &< \frac{1}{2}\|y - x + x - Ty\| \\ &= \frac{1}{2}\|x - y\| + \frac{1}{2}\|x - Ty\|. \end{aligned}$$

**Case 2:**  $x \in [0, 5], y = 5$ . Then

$$\begin{aligned} \|Tx - Ty\| &< \frac{5}{2} \\ &= \frac{1}{2}\|y - x + x - Ty\| \\ &= \frac{1}{2}\|x - y\| + \frac{1}{2}\|x - Ty\|. \end{aligned}$$

**Case 3:**  $x \in (4, 5), y \in [0, 4]$ . Then

$$\begin{aligned} \|Tx - Ty\| &< \frac{3}{2} \\ &< \frac{1}{2}\|x - y + x - Ty\| \\ &\leq \frac{1}{2}\|x - y\| + \frac{1}{2}\|x - Ty\|. \end{aligned}$$

**Case 4:**  $x = 5, y \in [0, 4]$ . Then

$$\begin{aligned} \|Tx - Ty\| &< \frac{5}{2} \\ &\leq \frac{1}{2}\|x - y + x - Ty\| \\ &\leq \frac{1}{2}\|x - y\| + \frac{1}{2}\|x - Ty\|. \end{aligned}$$

We have  $\|Tx - Ty\| = 0$  in a remaining case, so  $T$  is mean nonexpansive.  $\square$

## 3. A Suzuki-generalized nonexpansive mapping that is not mean nonexpansive

**Lemma 3.1.** Suppose that  $T : [0, 11] \rightarrow [0, 1]$  is a mapping defined by

$$Tx = \begin{cases} 1 - x & \text{if } x \in [0, 1], \\ 0 & \text{if } x \in (1, 11) \\ 1 & \text{if } x = 11. \end{cases}$$

Then  $T$  is Suzuki-generalized nonexpansive but not mean nonexpansive.

*Proof.* Suppose  $T$  is mean nonexpansive. So there are nonnegative real numbers  $a$  and  $b$  such that  $a + b \leq 1$  and

$$\|Tx - Ty\| \leq a\|x - y\| + b\|x - Ty\| \quad \text{for all } x, y \in [0, 11].$$

But if  $x = 0$  and  $y = 1$ , then

$$\begin{aligned}\|Tx - Ty\| &= 1 \\ &\leq a\|x - y\| + b\|x - Ty\| \\ &= a.\end{aligned}$$

So  $a = 1$  and  $b = 0$ , i.e.,  $T$  is nonexpansive. But this contradicts to the fact that  $T$  is not continuous. So  $T$  is not mean nonexpansive.

Next we show that  $T$  is Suzuki-generalized nonexpansive by contradiction. Suppose there are  $x$  and  $y$  such that

$$(1) \quad \|Tx - Ty\| > \|x - y\|$$

but

$$(2) \quad \frac{1}{2}\|x - Tx\| \leq \|x - y\|$$

or

$$(3) \quad \frac{1}{2}\|y - Ty\| \leq \|x - y\|.$$

We may assume that  $x = 11$  because  $T$  is nonexpansive on  $[0, 11)$ . Combining with  $\|Tx - Ty\| \leq 1$  and (1), we have  $y > 10$ . But then

$$\begin{aligned}\frac{1}{2}\|x - Tx\| &= 5 \\ &> 1 \\ &\geq \|x - y\|\end{aligned}$$

and

$$\begin{aligned}\frac{1}{2}\|y - Ty\| &\geq \frac{9}{2} \\ &> 1 \\ &\geq \|x - y\|\end{aligned}$$

which contradict to (2) and (3). Thus  $T$  is Suzuki-generalized nonexpansive  $\square$

#### 4. Increasing mean nonexpansive mapping is Suzuki-generalized nonexpansive

**Lemma 4.1.** *If  $T$  is an increasing mean nonexpansive mapping, then  $T$  is Suzuki-generalized nonexpansive.*

*Proof.* Let  $T$  be an increasing mean nonexpansive mapping.

Let  $y < x$ . We show that  $\|Tx - Ty\| \leq \|x - y\|$  if

$$(4) \quad \frac{1}{2}\|x - Tx\| \leq \|x - y\|$$

or

$$(5) \quad \frac{1}{2}\|y - Ty\| \leq \|x - y\|.$$

We may assume

$$(6) \quad \|Tx - Ty\| < \min\{\|Tx - y\|, \|x - Ty\|\}.$$

Otherwise  $\|Tx - Ty\| \leq \|x - y\|$  by mean nonexpansive condition of  $T$ .

**Case 1:**  $Ty \leq Tx \leq y \leq x$ .

Suppose  $x, y$  satisfy (4), we have

$$\|x - y\| + \|y - Tx\| = \|x - Tx\| \leq 2\|x - y\|.$$

So

$$\|y - Tx\| \leq \|x - y\|.$$

From (6), we have

$$\|Tx - Ty\| < \|Tx - y\|.$$

Thus

$$\|Tx - Ty\| < \|x - y\|.$$

Suppose  $x, y$  satisfy (5). Then

$$\|y - Tx\| + \|Tx - Ty\| = \|y - Ty\| \leq 2\|x - y\|.$$

So

$$\|Tx - Ty\| \leq \|x - y\| \quad \text{or} \quad \|y - Tx\| \leq \|x - y\|.$$

Thus  $\|Tx - Ty\| \leq \|x - y\|$  immediately or by (6).

**Case 2:**  $Ty \leq y \leq Tx \leq x$ .

This case does not satisfy  $\|Tx - Ty\| < \|Tx - y\|$  in (6). Thus the case is impossible.

**Case 3:**  $y \leq Ty \leq Tx \leq x$ .

We have  $\|Tx - Ty\| \leq \|x - y\|$  immediately.

**Case 4:**  $y \leq Ty \leq x \leq Tx$ .

This case does not satisfy  $\|Tx - Ty\| < \|x - Ty\|$  in (6). Thus the case is impossible.

**Case 5:**  $y \leq x \leq Ty \leq Tx$ .

Suppose  $x, y$  satisfy (4). We have  $\|Tx - Ty\| < \|x - Ty\|$  by (6), then

$$\begin{aligned} \|x - y\| &\geq \frac{1}{2}\|Tx - x\| \\ &= \frac{1}{2}\|Tx - Ty\| + \frac{1}{2}\|Ty - x\| \\ &> \frac{1}{2}\|Tx - Ty\| + \frac{1}{2}\|Tx - Ty\| \\ &= \|Tx - Ty\|. \end{aligned}$$

Suppose  $x, y$  satisfy (5). Then

$$\|Ty - x\| + \|x - y\| = \|Ty - y\| \leq 2\|x - y\|.$$

So

$$\|Ty - x\| \leq \|x - y\|.$$

From (6), we have

$$\|Tx - Ty\| < \|Ty - x\|.$$

Thus  $\|Tx - Ty\| < \|x - y\|$ . This completes the proof. □

## References

- [1] T. Suzuki, Fixed point theorems and convergence theorems for some generalized nonexpansive mappings. J. Math. Anal. Appl. 340 (2008), 1088–1095.
- [2] C. Wu and L.J. Zhang, Fixed points for mean non-expansive mappings. Acta Math. Appl. Sin. Engl. Ser. 23 (2007), no. 3, 489–494.
- [3] Y. Yang and Y. Cui, Viscosity approximation methods for mean non-expansive mappings in Banach spaces. Appl. Math. Sci. (Ruse) 2 (2008), no. 13-16, 627–638.
- [4] S. Zhang, About fixed point theory for mean nonexpansive mapping in Banach spaces. Journal of Sichuan University 2 (1975), 67-68.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, KHON KAEN UNIVERSITY, KHON KAEN 40002, THAILAND.

Email address: kitnak@hotmail.com.

THE CENTRE OF EXCELLENCE IN MATHEMATICS, COMMISSION ON HIGHER EDUCATION (CHE), SRI AYUDTHAYA ROAD, BANGKOK 10400, THAILAND